Jean Mawhin A simple proof of a semi-Fredholm principle for periodically forced systems with homogeneous nonlinearities

Archivum Mathematicum, Vol. 25 (1989), No. 4, 235--238

Persistent URL: http://dml.cz/dmlcz/107360

## Terms of use:

© Masaryk University, 1989

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

### ARCHIVUM MATHEMATICUM (BRNO) Vol. 25, No. 4 (1989), 235-238

# A SIMPLE PROOF OF A SEMI-FREDHOLM PRINCIPLE FOR PERIODICALLY FORCED SYSTEMS WITH HOMOGENEOUS NONLINEARITIES

#### J. MAWHIN

(Received December 28, 1988)

In honour of the 60<sup>th</sup> birthday anniversary of Prof. M. Ráb

Abstract. We prove that a generalized version of a semi-Fredholm principle for the existence of periodic solutions for forced systems with homogeneous nonlinearities recently obtained by Lazer and McKenna can be proved by a simple homotopy argument, which answers a question raised by those authors.

Key words. Periodic solution, periodically forced system, semi-Fredholm principle.

MS Classification. 34 C 25.

### 1. INTRODUCTION

In a recent paper, Lazer and McKenna [1] have proved the existence of *T*-periodic solutions for systems of the form

(1) 
$$u''(t) + V'(u(t)) = p(t),$$

when  $V \in C^1(\mathbb{R}^n, \mathbb{R})$  is positively homogeneous of degree two, positive semidefinite and  $p \in C^1(\mathbb{R}, \mathbb{R}^n)$  is *T*-periodic. They use Leray-Schauder degree theory together with two perturbations arguments through systems of the form

(2) 
$$u''(t) + \varepsilon u'(t) + V'(u(t)) = p(t),$$

with  $\varepsilon > 0$  and V positive definite and

(3) 
$$u''(t) + \delta u(t) + V'(u(t)) = p(t),$$

with  $\delta > 0$  and V positive semidefinite. They remark that it does not seem possible to prove the theorem more directly by connecting (1) rather (2) to a linear equation by a homotopy.

#### J. MAWHIN

We show in this paper that it is indeed possible and, without further complication, we can deal with a more general system which may also depend nonlinearly of u'.

## II. A SEMI-FREDHOLM PRINCIPLE FOR PERIODIC SOLUTIONS OF FORCED SYSTEMS WITH HOMOGENEOUS NONLINEARITIES

Recall that a function  $W : \mathbb{R}^n \to \mathbb{R}$  is said to be positive (resp. negative) semidefinite if  $W(x) \ge 0$  (resp.  $W(x) \le 0$ ) for all  $x \in \mathbb{R}^n$ , and is said to be positively homogeneous of degree  $k \ge 0$  if  $W(tx) = t^k W(x)$  for all  $t \ge 0$  and  $x \in \mathbb{R}^n$ . We shall call W semidefinite if it is either positive or negative semidefinite. Recall also that if  $W \in C^1(\mathbb{R}^n, \mathbb{R})$  and positive homogeneous of degree  $k \ge 1$ , then Euler's identity implies that

$$(x, W'(x)) = kW(x)$$

for all  $x \in \mathbb{R}^n$ . Of course, W' denotes the gradient of W and (x, y) the inner product of x and y in  $\mathbb{R}^n$ .

We may now state and prove in a direct way a semi-Fredholm principle in the sense of Lazer – McKenna for a larger class of systems.

**Theorem 1.** If U and V are in  $C^1(\mathbb{R}^n, \mathbb{R})$ , positive homogeneous of degree two, semidefinite and such that the system

(4) 
$$u''(t) + U'(u'(t)) + V'(u(t)) = 0,$$

has no T-periodic solution other than 0, then for each  $p \in L^1(0, T; \mathbb{R}^n)$  the problem

(5) 
$$u''(t) + U'(u'(t)) + V'(u(t)) = p(t), u(0) - u(T) = u'(0) - u'(T) = 0$$

has at least one solution.

Proof. Let  $a = \pm 1$  and  $b = \pm 1$  be such that aU and bV are positive semidefinite. Observe that the linear system

(6) 
$$u''(t) + au'(t) + bu(t) = 0,$$

has no *T*-periodic solution other than 0, because if u is any *T*-periodic solution of (6), then, taking the inner product of (6) with u'(t), integrating over [0, *T*] and using the periodicity, we get

$$a\int_{0}^{T}|u'(t)|^{2} dt = 0,$$

236

#### SEMI-FREDHOLM PRINCIPLE FOR FORCED SYSTEMS

so that u is constant, and this constant must be zero as shown by integrating (6) over [0, T]. Consequently, it follows from one version of the Leray-Schauder's continuation theorem (see e.g. [2], Theorem IV.5) that (5) will have at least one solution if we can find r > 0 such that for each  $\lambda \in [0, 1]$  and each possible solution u of the problem

(7) 
$$u''(t) + (1 - \lambda) (au'(t) + bu(t)) + \lambda [U'(u'(t)) + V'(u(t))] = \lambda p(t),$$
$$u(0) - u(T) = u'(0) - u'(T) = 0,$$

one has  $|| u ||_1 < r$ , where

$$||u||_1 = \max_{t \in [0, T]} |u(t)| + \max_{t \in [0, T]} |u'(t)|.$$

If it is not the case, we can find sequences  $(\lambda_k)$  in [0, 1] and  $(u_k)$  in  $C^1([0, T], \mathbb{R}^n)$ such that  $|| u_k ||_1 > k$  and  $u_k$  is a solution of (7) with  $\lambda = \lambda_k$   $(k \in \mathbb{N}^*)$ . Letting  $w_k = u_k/|| u_k ||_1$ , so that  $|| w_k ||_1 = 1$ , for all  $k \in \mathbb{N}$ , and using the positive homogenity of degree one of U' and V', we get

(8)  

$$w_{k}''(t) + (1 - \lambda_{k}) (aw_{k}'(t) + bw_{k}(t)) + \lambda_{k}[U'(w_{k}'(t)) + V'(u_{k}(t))] = \lambda_{k}(p(t)/|| u_{k} ||_{1}),$$

$$w_{k}(0) - w_{k}(T) = w_{k}'(0) - w_{k}'(T) = 0,$$

for all  $k \in \mathbb{N}^*$ , which immediately implies that the sequence  $(|| w_k'' ||_{L^1})$  is bounded independently of k. Hence, the sequences  $(w_k)$  and  $(w_k')$  are equibounded and equiuniformly continuous on [0, T], and Ascoli-Arzela's theorem implies the existence of subsequences  $(\lambda_{j_k})$  of  $(\lambda_k)$ ,  $(w_{j_k})$  of  $(w_k)$  and of  $w \in C^1([0, T], \mathbb{R}^n)$ verifying

(9) 
$$w(0) - w(T) = w'(0) - w'(T) = 0$$

and such that  $w_{j_k} \to w$  and  $w'_{j_k} \to w'$  uniformly on [0, T] and  $\lambda_{j_k} \to \lambda^*$  for some  $\lambda^* \in [0, 1]$ . Therefore, if we take the integrated form, from 0 to t, of the differential system in (8) for  $k = j_k$  and let  $k \to \infty$ , we see that

$$w'(t) - w'(0) + \int_{0}^{t} \left\{ (1 - \lambda^{*}) \left( aw'(s) + bw(s) \right) + \lambda^{*} \left[ U'(w'(s)) + V'(w(s)) \right] \right\} ds = 0$$

for all  $t \in [0, T]$ , and hence w' is absolutely continuous on [0, T] and satisfies the differential equation

(10) 
$$w''(t) + (1 - \lambda^*) (aw'(t) + bw(t)) + \lambda^* [U'(w'(t)) + V'(w(t))] = 0.$$

If  $\lambda^* = 1$ , it follows from the assumption on (4) that w = 0, a contradiction with  $||w||_1 = 1$ . If  $0 \le \lambda^* < 1$ , then, taking the inner product of (10) with w'(t), integrating over [0, T] and using the conditions (9), we get

J. MAWHIN

$$(1 - \lambda^*) a \int_0^T |w'(t)|^2 dt + \lambda^* \int_0^T (U'(w'(t), w'(t)) dt = 0,$$

i.e.

$$(1 - \lambda^*) \int_0^T |w'(t)|^2 dt + 2a\lambda^* \int_0^T U(w'(t)) dt = 0,$$

which implies, by the positive semidefiniteness of aU that

$$\int_{0}^{T} |w'(t)|^{2} dt = 0,$$

and hence that w is constant on [0, T], say  $w(t) = \overline{w}$  for all  $t \in [0, T]$ . But then (10) implies, after an inner product with w,

$$(1 - \lambda^*) b |\overline{w}|^2 + \lambda^* (V'(\overline{w}), \overline{w}) = 0,$$

i.e.

 $(1 - \lambda^*) | \overline{w} |^2 + 2\lambda^* a V(\overline{w}) = 0,$ 

so that  $\overline{w} = 0$ , as aV is positive semidefinite, and hence w = 0, a contradiction with  $||w||_1 = 1$ . Hence, the proof is complete.

### REFERENCES

- [1] A. C. Lazer and P. J. McKenna, A semi-Fredholm principle for periodically forced systems with homogeneous nonlinearities, Proc. Amer. Math. Soc., 106(1989), 119-125.
- [2] J. Mawhin, Topological Degree Methods in Nonlinear Boundary Value Problems, CBMS Conference in Math. n<sup>o</sup>. 40, Americal Mathematical Soc., Providence, Rhode Island, 1979.

J. Mawhin Institut Mathématique Université de Louvain B 1348 Louvain-La-Neuve Belgium